1) Fill in the missing number

2 mins =

2) Fill in the missing number .

480 mins =

3) Write the number of years in 2 millenia.

4) Calculate the following:

6 minutes + 22 minutes = minutes

5) Calculate the new time

2 : 35 + 50 minutes

6) Calculate the new time.

3:37 — 17 minutes

7) Calculate the following

2 hours 12 minutes — 58 minutes = minutes
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8) A TV program starts at 6 : 11 p.m. and finishes at 6 : 51 p.m.

How long is the TV program? minutes

9) A car journey starts at 4 : 35 p.m. and finishes at 8 : 15 p.m.

How long is the car journey? hours minutes

10) Use the bus timetable to answers the questions below.

Place Arrival Time Departure Time
Exeter 17:16 17:18
Dawlish 17:46 17:55
Teignmouth 18:19 18:27
Plymouth 18:40 18:43

a) How long is the journey between Exeter and Dawlish?

b) How long does the bus wait at Plymouth? minutes

11) Write the time.
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12) Write the time in words.

13) Convert the following into a digital time

half past six

14) Give the time in words for the digital time below

3:45
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Solutions for the assessment Time

1) 120 secs 2) 8 hrs

3) 2000 4) 28 minutes

5)3:25 6)3:20

7) 1 hours 14 minutes 8) 40 minutes

9) 3 hours 40 minutes 10) a) 28 minutes, b) 3 minutes

11) 1:00 12) quarter past eleven or eleven fifteen

13) 6:30 or 18:30 or 06:30 14) quarter to four
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